	Вариант

№
	 Группа_________ 

Фамилия И.О_____________________
	Вариант

№
	 Группа_________ 

Фамилия И.О __________________

	Ответы к задачам
	Ответы к задачам

	1.1
	1.2
	1.3
	1.4
	1.1
	1.2
	1.3
	1.4

	П=______
Кс=_____

Восстанов
Не восстан.


	П*=_____
К*с=____

Cв= ________
П0=_____

	П=_______
Кс=_______

Восстанов. 

Не восстан.


	П*=_______
К*с=______

Cв= ________


	П=_______
Кс=______

Восстанов. 

Не восстан.


	П*=_____
К*с=____

Cв= ________

П0=_____


	П=_____
Кс=____

Восст. 

Не восстан.


	П*=______
К*с=______

Cв= ______

П0=_____


	Вариант

№
	 Группа_________ 

Фамилия И.О_____________________
	Вариант

№
	 Группа_________ 

Фамилия И.О __________________

	Ответы к задачам
	Ответы к задачам

	1.1
	1.2
	1.3
	1.4
	1.1
	1.2
	1.3
	1.4

	П=______
Кс=_____

Восстанов
Не восстан.


	П*=_____
К*с=____

Cв= ________
П0=_____

	П=_______
Кс=_______

Восстанов. 

Не восстан.


	П*=_______
К*с=______

Cв= ________


	П=_______
Кс=______

Восстанов. 

Не восстан.


	П*=_____
К*с=____

Cв= ________

П0=_____


	П=_____
Кс=____

Восст. 

Не восстан.


	П*=______
К*с=______

Cв= ______

П0=_____


	Вариант

№
	 Группа_________ 

Фамилия И.О_____________________
	Вариант

№
	 Группа_________ 

Фамилия И.О __________________

	Ответы к задачам
	Ответы к задачам

	1.1
	1.2
	1.3
	1.4
	1.1
	1.2
	1.3
	1.4

	П=______
Кс=_____

Восстанов
Не восстан.


	П*=_____
К*с=____

Cв= ________
П0=_____

	П=_______
Кс=_______

Восстанов. 

Не восстан.


	П*=_______
К*с=______

Cв= ________


	П=_______
Кс=______

Восстанов. 

Не восстан.


	П*=_____
К*с=____

Cв= ________

П0=_____


	П=_____
Кс=____

Восст. 

Не восстан.


	П*=______
К*с=______

Cв= ______

П0=_____


